2178.

Problem 27.18 (RHK)

Assume that each conducting ball in problem 277 is
losing charge at the rate of 1.20 nCs™. We have to
calculate the instantaneous relative speed with which the

two balls approach each other initially.

Solution:
We have shown In problem 277 that the equilibrium

separation of the two balls is given by the relation
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We use the data that initially



x=4.70 cm, q=22.8x10"° C, and
d—q =1.20x10"° Cs™
dt

Therefore, initially the two balls will approach other with
relative speed
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